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1. 10.10 =
(i) 101 (ii) 1010 (iii) 101 (iv) 101 (v) 101
— iii iv) ——— (V) ——
" 100 1000 10
2. 1857 =
1857 1857 . 1857 1857
(i) (ii) (iii) ——— (iv) 1857 (v)
10 100 1000 10000

3. Find the total number of factors of1728
(i) 28 (ii) 25 (iii) 29 (iv) 27 (v) 30

4. Find the product of LCM and HCF of {15,9}
(i) 134 (ii) 135 (iii) 132 (iv) 136 (v) 137

5. Find the total number of factors of40

(i) 11 (ii) 5 (iii) 9 (iv) 8 (v) 7

6. Find the prime factorization of68

() 2x17 (i) 4%2x17 (i) 22%x15 (iv) 23x17 (v) 22x17

7. Find the HCF 0f{990,810,600,210}
(i) 29 (ii) 27 (iii) 30 (iv) 32 (v) 31

8. 6.43 =
643 643 643 643

m (ii) (iii) —— (iv) —— (v) 643

W 1000 10 100

9. Which of the following is an irrational number?

. .. . 18
(i) 4 (ii) v58 (iii)) 23 (iv) 24.8148 (v) 2—1

10. Find the LCM of {40,200}
(i) 200 (ii) 201 (iii) 199 (iv) 202 (v) 198

11. Find the number of prime factors of26

(i) 2 (i) 0 (iii) 1 (iv) 3 (v) 4

12. Find the LCM of {12,15}
(i) 58 (ii) 60 (iii) 61 (iv) 62 (V) 59



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

691
50

.60
Convert the fraction

(i) 2895.238095 (ii)

4.9 =

49

" 1000

(if)

49
10

Find the HCF of {24,44}
(iii) 2 (iv) 5

(i) 3 (i)

7

(iii)

to non-terminating recurring decimal

2.8952380

691

5000

(v) 4

(iv)

691
500

691
(v) -

(iii) 0.28952380952381

49
100

(iii) 49 (iv) 490 (v)

(iv) 28.952380

Convert the non-terminating recurring decimal 29.52380952380952...
to rational number

620

(i) (i) 620 (iii
19

21

622

)

(iv)

Find the total number of factors of 152
8 (v) 7

(i) 5 (i)

1

1 (iii) 9 (

iv)

Convert the non-terminating recurring decimal 30.94 to rational number

185

(i) (i) >>7 (iii
) = () o il

557

)

16

(iv)

557

20 v

Find the product of LCM and HCF of {8,4}
(iv) 32 (v) 34

(i) 31 (ii)

Find the LCM 0f{18,14,16,10}
5038 (iv)

(i) 5039

33 (iii) 29

(ii) 5041 (ii

i)

Find the prime factorization of 8

5043 (v)

i 2% i) 22 i) 43 Gv) 23 (v 1)3

22
Convert the fraction

to non-terminating recurring decimal

559
18

5040

(i) 244.4 (ii) 0.24 (iii) 2.4 (iv) 24.4 (v) 0.024

Find the HCF of {10,12}
(iii) 3 (iv) 2

(i) 1 (i)

Find the HCF of {36,35,30,14}

(i) O (i)

0

1

(i) (-2)

(iv)

(v) 5

2

(v) 4

(v) 289.523809



Assignment Key

1) (v) 2) (ii) 3) () 4) (ii) 5) (iv) 6) (v)
7) (iii) 8) (iv) 9) (ii) 10) (i) 11) (i) 12) (ii)
13) (iv) 14) (iv) 15) (ii) 16) (v) 17) (i) 18) (iv)
19) (ii) 20) (iv) 21) (v) 22) (iv) 23) (iii) 24) (iv)
25) (i)
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